MATHS by MANQJ JOSHI

Mar ks: 100 Subj ect : 10t h- MATHS Dat e:
Chapter:8 MCQ Assi gnnent - unit 9 Ti me:
[A]  oilRont usdlon E53i Bar avil. (UASHN a de1) [30]
1. Q15 cot A=8&Q, dl sin A Jid sec A 20,
2. [eno A 8 3 RI A weudl. ddRl vdiciell A2n2fdl AR : 6 -l €35 Y& W2 sin 6 = cos O
YLy,
3. [Gaiel A O 3 VAR A veudl. dHRl vdicloll 2neldl ASRN : A = 0° W2 cot A deuvAld 9.
. sin 18°
4. [‘?S"ld Qﬁfh : cos 72°
. tan 26°
5. (Bud 20l : cot 64°
6. [Gud 20el : cos 48° — sin 42°
7. [Gua 20e) : cosec 31° — sec 59°
8. a1 2A A agsled Hu &l d2ultan 2A = cot (A -18°) &l dl A il BGua 2Mel.
9. < tan A = cot B &1, dl Acid sA S, A + B = 90°
10. 0 4A A agslesi UM &lA daul sec 4A = cosec (A - 20°) &1, dl A ol (Gaa M.
11. sin 67° + cos 75° A 0° JHa 45° dAcll HNUAINL viellell Gisieificla {;ehrle a?ls eaial.
4 _ cosH —sin® . .
12. cot® = o dl oo gne A Bud ikl
4 . 5sin® -4 cos6
13. tan O = E l 5ein® 1 cos® T T
) 8 . (1+sinB)(1 - sin@)
14. tan<@ = 7 cl (1 + cos0)(1 - cos0) = ceecccnnns .
15. sin@-tan O + cos 0O = .......... .
a
16. sin6=z dl sec® + tan® = .......... .
17. A ABC Hi ZA = 90° -l tan C = .......... .
18. 12 sin® = 4cos O di cot = .......... .
19. secO=-184 d tan0 = ........... .
tan©
20 sine.cosece = eeeccecces .
1 Y oY
21. cos@ = 5 8ld dl sin 0 - cosec O = .......... .
gy, Sec®:.cosb
tan©
secO
23 cosece = cecessusee o
3 N oY
24. sin 0 = E Sy dl tan 0 = ..........
25. AABC 4i ZB =90, AB: BC = 3:4 84, dl cos A = ........
26. sin® - tan® + cosh = .......... .
27. AABC i ZA = 90° di tan C = .......... .
28.  3c0s230° + sec230° + 2cos 0 + 3sin 90° — tan260° Il [ZHd L.
29. tan50-tan 40 = 1 dl O g 3eu WL
30. 7c0s?0 + 3sin%0 = 3 dl cos O = .......... .
[B]  oilout uson Zs3i Gar avil. (UASo 2 de1) [70]
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€0s245° — c0s230° = x - cos 45° - $in 45° dl X = .........

sin®60° cosec?60°
1 - cos?60° 1 + cot?60°
@A) 1 (B) 2 © 3 (D) 0
3tan 30°
1 - tan®30°
(A) g (B) % Q # D)1
2cos 30 x sin30 = sin O dl @ 4 yeu 2l
(A) 60° (B) 45° (©) 30° (D) 90°
sin 2A = 2sin A €14 dl A = .......... .
(A) 60° (B) 45° (C) 30° (D) 0°
2
6 =30°ag ﬂ A [BHa lul.
1 + tan

2[cot? 45° — cosec? 45°]
2cos 30° x sin 30° = sin 0 dl 6 g yeu WAl
$in20 — cos20 7 e YU A AR O 7§ YU Akl

~ |1 + cos2A
A A = 30° dl Jf .......... )

.2 (x 2 x + 30 Y
sin E + COS 3 = tan 45° dl x = .........

1 + cos2A
°2?lA:30°@l€ld\l1/f= .......... )

4 Y oY
°z?lcosecA:§M1A+B:90°dlsecB:. ........ .

% A 21 B sil2sia 8iy dl sin A-secB = .......... N

B+ C

AABC W2 sin > S .
A tan 50 - tan 40 =1dl 0 = .......... .
~ ~ . Y 3 1 Y 1 Y
% AYSIRL HIY A ¢l B HI2 tan A = E 2 sin B = 5 L cos (A + B) = ......... .
sin 20 N cos 32 _ 2cos4l
cos70 sin58 sin49 =~ U
oA sec 4A = cosec (A — 20°) Ul 4A 4ZSRA 9. dl A = ........... .
AABC -l “RU A, B 21 C UL WY AR Alui € dl sin B = .......... .
tan 11 - tan 79 — sin%0 = cos?0 + K dl K = .......... .

2 N A
cosecA:E%ﬁA+B=90dlsecB= .......... .
A 21 B 25 ofloaqi sisiaL ¢lu dl sin A - sec B = .........

A 76 i 20 agsladl WU Sl dA sin 70 = cos 20 dl 2 sin 36° - /3 tan 6.
sin o + sec B = 2 dl sin%0, + cosec?q = ......... (@l oo+ B =900

an 0 + cot 0 = L tan2019 + cot2020 = ... .
% tan 0 to=2¢ld

A) 2 B) 1 @ o (D) 2039
1 + tan®A

m ............

(A) secA (B) cot?A (C) tan?A (D) -1
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cos?0 — sin%9 = .......... .

(A) 2cos20 + 1 (B) 2sin26+1 (C) 2cos?6 — 1

% cos O + cos?0 = 1 dl sin20 + sin%0 = .......... .
(A) O B) 1 < -1
% 7 cos20 + 3sin20 = 3 dl cos 9 = ........... .
% 7 cos20 + 3sin20 = 4 dl cotd 2WHI.
sin 0
1 + cose T teeeeenene .
(1 + tan?8) (1 - sin20)(sec26 — tan20)

, on A 3sin® — 2cosO . o n
3 tan § — 2sin?0 = 2c0s20 dl 5 i 01 14 coso "\ (Bua sl

sin® + cos® = 1.2 dl sin® cosO = .......... .
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(D) 2sin%6 — 1

(D) 2




